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2, SELECTING PARAMETER

2.1 Power P

Py
P1 = T [kW]
Pin = Ppefg [kW]

P, Input power

P, Output power

Pin Rated motor power
fs Service factor

n Efficiency

2.2 Rotation speed n

nq Gear units input speed
n; Gear units output speed

For optimizing working condition and improving
the life when the gearbox driven by the external
device, please use the speed at 1400rpm or lower.
High input speed is allowed but the rated torque M2
will be decreased under such case.

2.3 Transmissionratio i
nq

nz
Generally ratio is decimal fraction with 2
radix points tagged in selecting table

2.4 Torque M

9550 - P+
My = —————[Nm]

Mzn = M2+ f; [Nm]

M> Output torque

Mz, Selected output torque
Pq Input power

| Efficiency

fs Service factor

2.5 Servicefactor £

Please consider the service factor fg when used
the gearbox, the service factor is decided by running
time and frequency of on-off Z per day.
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Confirming the 3 kind of loadtypes according to
the inertial accelerating factor, the practical
application service factors (fs) can be read in the
below table, the selected fs from the below table must
be less than or equal to the fs provided in the
performance parameter table.
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@ HamEaE, oFtEEmE R fa<0.2
(B wZmEas, KFEEmERY fa<3

(© EmEHd#, RFREMERRY fa<10

2.5.2 Pk R B

{3 MR AT E T
fa= J_c
a e

fa L il BE )

Je  FABSMEBIEFNIRE (kgm?)

Jm  REBHLAEHIRE (kgm?)
MRBEHMERE fa>10, BESHEMNBEALMEK R,

ATREREENERES, NEREEADNMEEE
suxFrgneERrsfspsFamasFitayme
AzHfs,

600 800 1000 1200 1400
EERE Z (R #
start up frequency Z (1/h)#
#Start up frequency Z: The cycle includes all start
and brake times,also the times of speed changing on
geared motor.

2.5.1 load classific ations

Uniform,permitted mass acceleration factor fa<0.2
Moderate shock load,permitted mass
acceleration factor fa=3

Heavy shock load,permitted mass acceleration
factor fa<10

© ®6

2.5.2 Inertial accelerating factor

The Inertial accelerating factor is calculated as follows:
Je
fa= —
a N
fa  Inertial accelerating factor
Jc  All external mass moments of inertia ( kgm?)
Jm Mass moment of inertia on the motor end ( kgm?)

Please contact with our technology departmentif the
inertial accelerating factor fa=10.

To keep the service-life of gearbox,the use
factor fg selected from the catalogue must be equal
or slightly higher than the calculated use factor fg.
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Example:

Inertial accelerating factor 2.5(load
classification (B) ),10hours/day operating time (read
off at 16h/d)and100 cycles/hour result in a service
factor fg=1.45.

choose the service factor fs=1.45 according to
theparameter sheet.

2.6 Radialload and axial load

The types of transmission parts that mounted
on the shaft end must be considered when the radial
load was affected. Various transmission parts are
corresponding with following transmission parts

factorsf, :
&5 1EEIMMERE Fz R
Transmission element Transmission part factor Fz Comments
5% Gears 145 < 171§ teeth
1:25 20 teeth
§&#  Chain sprockets e oo
1.40 < 13§ teeth
visss Narrow V-belt pulleys 1.75 EFENIER Influence of tensile force
F#tp Toothed belt pulleys 2.50 EFENER Influence of tensile force
e Flatbelt pulleys 2.50 EFENIER Influence of tensile force

(e BB AE R LR RTROTAR
.
Fr=E£%E£1M
Foo {ERERLORTE N
M (e HHE [Nm]
do  EEFEMLRHMENTHEE I mm]

fz L PIES

P 42 () 35 fo 2 R HE 3K B fE A & anL1on R A
He (RI|IS0281) . N FHHIMEBITHRE, FARZ
E#H R RFEEEERFFLnaRBE

SERARRBHMS R, FREE T RE—
TARXKITE, REXRMIFATHE Fx ( RIE#HKH
ER%HF )

Fxl = Fr“,Z] *

Fr1, Frz = MBESHRBP T AZEEE (x=L/2) [N]
x = NEB B3 71 B RERS [mm]
ab, =REIEFEEELFEE[mm]

The radial load forced on the motor and gear
shaftis calculated as follows:

Fr = M-2300° fz [N]
0
Fr Radial load [N]
M Torque on the shaft [Nm]
g Average diameter of the mounted transmis-
0 sion partin [mm]
fz Transmission part factor

The permitted radial load is estimated by
bearing rated service life L1oh(according to 1S0281),
and it confirmed by modificatory service life Lpaunder
special running condition.

The permitted radial load must be calculated by
the following formula when the loading point is
deflected from the shaft center, and choose the
permissible value Fxi on the point X(according to
bearing service life)

sex [N]
Fr1, Fr2 = Permitted radial load (x=L/2) for foot-
mounted gearbox according to the selec-
tion tables [N]
X = Distance from shaft shoulder to the
pressure point [mm]
a,b, = Gearbox radial conversion constant [mm]

3
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Output axial loads

FKM 5 i 3842 [m ¥ {£. % ®/Gearbox radial conversion constant

FKMS50B FKMS50C FKM63B FKM63C FKM75B FKM75C FKM90B FKM9%0C
104 104 118 118 131 131 159 104
78 78 93 93 101 101 119 78

i NRIE2 34 / Input shaft radial loads

WMAEN
Vi

MNarrow V-belt pulleys

R
Flat belt pulleys

ik
Toothedbelt pulleys

Fat1=FRr1Xx0.1

Fa1 =§ﬁ)\$ﬁfﬁl§:‘€i‘é‘f

Input axial loads

ATENEATEATER ( BE=2KN )
Itis forbidden to use the input on the right chart (including 3 stage input).

FKM g% 212 M4 1L 5 =/Gearbox radial conversion constant

FKM50B FKMS50C FKM63B FKM63C FKM75B FKM75C FKM90B FKM90C
515 56 58 56 73 70 81 70
b 40 44.5 43 44.5 53 55 61 55
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2.7 Selection table instruction

Gearbox with such input flange is applicable
Gearbox with such input flange is not applicable
Ratio is divisible;

Rated motor power;

Output speed:;

Output torque;

Max.permissible output torque

Ouput shaft radial load
Gearbox nominal ratio;

Gearbox actual ratio;
Service factor;

Gearbox type;

Motor type;

Page Dimension sheet page no;
3. SELECTION EXAMPLE
3.1 Geared motor
Example: Required power 0.37kW on driven
machine, work for 8 h/day, moderate shock
load,start up frequency 100(1/h),n,=7r/min,
B3 mounted,
So:
Check the service factor table at page 6,
choose fg=1.3
1400 _ 200
7

X1.3=0.512[kW]

Choose type:
KPM75C-200-71B5-7124-B3
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& P6 E R R EIRAAEER R f=1.02

1
n

3.2 Gearbox

Example: Required 130Nrn on driven machine,
work for 8 h/day, start up frequency 200(1/h), FA1
mounted n,=1400r/min,n,=90r/min,so the only
selection is 3 stage after checked the table:

Check the service factor table at page 6 ,
choose fg=1.02

00 _ 455

Mpn=Mgz fs =130x1.02=132.6 [Nm]

M2 -nq

132.6 x1400

Pin=Pq.fg =

FKM63B-15-FA1-90B5

9550.01 -i ° 9550%0.94x15

x1.02 = 1.4 [kW]

Choose type:
FKM63B-15-FA1-90B5
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